2-19-149 BR s e

D The reatio of the radl

of A crel=gs 1> NG Wwhes

Is the fretio of the ore=s’

G

N e 6" 3|

@ T)’\t.. eodius o ¥ o Cy feAades 3
1ALl e=sed by 25Y ard ke:u}\t'~.5

davblcd. How much lerye Tf Tec

2
Volume .

C_yllml” s = T—lfil'\
X
V=TT QQS r‘) 2 h
T 1.s6a5fFa" K

W B N
'3,1‘9.,.5"'« neS tese

N

@6'@1 equation of c.rele

‘bt heas Center (Ql_-s) aad
o (Cadivs of 4

(x-2) 7+ (y+o)= 16



@ L+ (" %,5) IR reflectel ovi~m

; ' ; B
L Ne K-eox-s, where w,ll ox L

\J

4_——_,-—_—_;?

63,—?) 1

@ Ref lect ﬂ:.- <"lt,6)auu/ -
fiee x= 1D,
[ I )M

‘-—h.. --gq_,_ T'-“h N _ =

& (a'-l S)

-y -




Gfut rma Pa.‘a..c:. T

i€ oA the Cirele
Q(“El)zf (y-r'_'\‘)l: 9
center =(R77)

Ma divs = %
2
2,-4)
G P
('aj-u;\

@ ﬂ&"ﬁl"-"-"t ('?’, lo") oOwve~
&) Y= %R { Jue-3)
b.) 7':'_K (—Iudi?)

IE the point (-4,16) hes the

'&:r't.n.sln--:.-lln ( x'-%_, Yt%)'wht're
1S The pew Pq.:.\.'cu?

(=%, i5)
@ Ls (~2,6) oathe cirele
Cx 3+ Cy- )= 3G
2z
€a+3) + (6-10=3¢ 7
e 5 Lrse Y

6= 367 f\/o



R eflect C'—%‘(DJ o ue—

Iiwe Y'— Joo .
Ge,i““’)

éqo

“4

“/= jat

<10

@ Glue 'Eal\.h-t:iﬂ of circle

ther hes Ef\.&en:htj

( ’a‘,"’;} =l (‘E‘IZ)‘_ (VY Sy e t e
ol v et

f“ Lguhﬂ:

G;l-r? -g-;--.z.)
@&b 5. 3%)

'i. A2)

Distmace Frvm @MVt C3p0)



3-19-19 @ ©=°

@ The b0 of thre =l of

Ew e cweles 7y 'S WAt
2?

ig thre ru‘f:o o ¥ ‘t;l-«.:'/‘ Cof 28

@ T e radivs of = c.)l.‘n-ifr’ (s
INC e red by 35’1 awd 15> helghe
.ls dbﬁkl“. H"’"‘V M\JL-I- f‘.{l’tf :s
it‘ \I’ujurn‘-‘.?
Cylindes
7 e
i 1
\ = ﬂ-Q.@%r) a- h
™ 19235~ -2 K

W e BEHE

%6“.6”@ { n” L



(3 Give cquers of cireln

Wit radius of 5 and

Cont</ of (-, loee)

<X +3 3?— + ( 7-—3009)?-2 25

@ e (pwte oo
Cent” = Q)I%)
Radivs= 1Q

(B Reflect (-3 1) over the

)(-a-K:’: .




@ Reflect (-%,lo) aves t ke
\:nﬂ.

ﬁ) y:' X (101#%>
by yi-% (-19,%)

(D) Reflect (-3,H4) cuer e 1Tac

y= 0.
~3,154)
26
Pl
L2 —— y:‘.?b
16
* +4
-9 e —

TF the poirt (-2, 8) h~s
n translation of ( X‘\'L’,}"Ioa)/

wheee Ts the pew Po'.q.-r_-;

(R,-49%)



Treastetion .‘6( Y,)/"').

Where do-es C %JSD) 1**—6?

(3,4
7) e

® . -
N Y

\

L1

\\

@ 6:0‘1 ~me L" Foik'ta oA The
C.rele (X "%)1"'(7— l0)2.= '-I-
Ce;\.t-cr’:(%J IO)
(5,1?)

A1 = L .o, (0)
Gy T

(3,%)

| I

¢

v



@ IS (_Lj,fb) onr The
£ariele z{"l‘)z—i— Yt-?i)?= o D
@“|>1f(éf?)1: (0o 7
i

2« s LI T ¢
A0= 0o ? ﬂ)o

@ Wkut s t he eﬂ\,m-:un of the

C.rele whose dianeter hes

endpoiats ( Q H) end (3,12).

(8,2)
MidporAT
@,tt) L. il
ACWNLEL
e
(s5,%)
Distance Frem(AN) tu ®,12)
D- m\"h
T
- (Zeven

T ID O radies s '5

Centtsr = (SK)
Ra.d}‘.}f - B
€ Fucyy Ly-s{’“wﬁ';zs



